16.

17.

Mulwa had 5 one thousand shillings notes,
7 five hundred shillings notes, 10 two hundred
shilling notes and 6 one hundred shillings notes.
He then changed the money into fifty shillings
notes. How many notes altogether did he get?
A. 555000

B. 11100

£ 2220 ‘

D. 222

The figure below is a map of a village drawn
to the scale 1:250 000 0

What is the perimeter of the village in
kilometres?

A. 6000
B. 600
C.. 60
D. 6

. A cylindrical container has a circumference

of 176cm and a height of 40cm. What is the
volume of the container in cm?? (Take & = %)
A. 394240

B. 98560

C. 7040

D, 3520
901503

Working Space

TURN OVER



